8187 Dewberry Lane, Ingalls, Madison County, Indiana, United States, 46064
Gross Living Area: 1250 sq. ft
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Space Al’ea (Sq . ft) Ca|CU |atI0n Coordinate Polygon Area Algorithm using inches
FLOOR 1 972 ((529.2 + 529.2) * (127.9 - 458) + (529.2 + 397.6) * (458 - 458) + (397.6 + 397.6) * (458 - 426.9)
(Living area) +(397.6 +311.3) * (426.9 - 426.9) + (311.3 + 311.3) * (426.9 - 391) + (311.3 + 42.8) * (391 - 391)

+(42.8 +42.8) * (391 - 127.9) + (42.8 + 529.2) * (127.9 - 127.9)) * 0.5 * 0.00694

Report generated on Fri, 21 Feb 2025 06:34:06 GMT.
Measurements and calculations are deemed highly reliable, but not guaranteed.



8187 Dewberry Lane, Ingalls, Madison County, Indiana, United States, 46064
Gross Living Area: 1250 sq. ft
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Space Al'ea (Sq . ft) CaICUIation Coordinate Polygon Area Algorithm using inches

FLOOR 2 1250 -((529.3 + 529.3) * (115.7 - 445.8) + (529.3 + 397.8) * (445.8 - 445.8) + (397.8 + 397.8) * (445.8 -
(Living area) 414.7) + (397.8 + 399.7) * (414.7 - 408.7) + (399.7 + 399.7) * (408.7 - 335.6) + (399.7 + 333) *

(335.6 - 335.6) + (333 + 333) * (335.6 - 372.9) + (333 + 290.7) * (372.9 - 372.9) + (290.7 + 290.7)
*(372.9 - 408.7) + (290.7 + 292.7) * (408.7 - 414.7) + (292.7 + 292.7) * (414.7 - 576.2) + (292.7 +
165.8) * (576.2 - 576.2) + (165.8 + 165.8) * (576.2 - 553.7) + (165.8 + 42.9) * (553.7 - 553.7) +
(42.9+ 42.9) * (553.7 - 115.7) + (42.9 + 529.3) * (115.7 - 115.7)) * 0.5 * 0.00694

Report generated on Fri, 21 Feb 2025 06:34:06 GMT.
Measurements and calculations are deemed highly reliable, but not guaranteed.



8187 Dewberry Lane, Ingalls, Madison County, Indiana, United States, 46064
Gross Living Area: 1250 sq. ft

Space Area (Sq . ft) Calcu |ati0n Coordinate Polygon Area Algorithm using inches
OPEN TO BELOW 49 -((399.7 +399.7) * (335.6 - 372.9) + (399.7 + 399.7) * (372.9 - 408.7) + (399.7 + 397.8) * (408.7 -
(Non-living area) 414.7) + (397.8 + 292.7) * (414.7 - 414.7) + (292.7 + 290.7) * (414.7 - 408.7) + (290.7 + 290.7) *

(408.7 - 372.9) +(290.7 + 333) * (372.9 - 372.9) + (333 + 333) * (372.9 - 335.6) + (333 +399.7) *
(335.6-335.6)) * 0.5 *0.00694

Report generated on Fri, 21 Feb 2025 06:34:06 GMT.
Measurements and calculations are deemed highly reliable, but not guaranteed.



